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b. (a) Sketch the curve of the parametric equations z = ¢(t* — 3), y = 3(t* - 3), —2 <t < 2
and indicate with an arrow the direction in which the curve 1s traced as the parameter ¢
increases.
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(b) Find the tangent to the curve at the point (=2, —6). Draw “he tangent line on vour plot
of the curve. )
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(c) Find the tangent to the curve at the point (0,0).
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e (a) Sketch the curve of the parametric equations = 2 =2t y=t+1for =1 <t <3Jand
indicate with an arrow the direction in which the curve is traced as the parameter

t 1ncreases.
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(b) Find the points on the curve given in part (a) where the tangent line is horizontal
or vertical- and draw these tangents on your plot of the curve.
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(c) Calculate the length of the curve given in part (a).
(3 T 3
dy 4 ¥ ! 3
\ \]tLAT’WLK j - S ‘\ji(.‘\i—*),\ =+

. . ; 5 &U‘ \ ’ 4_
P b i o —
\ hw Tty 2 — [ & 'L -+ Ch( U"“\I,I#M-L)
: ~ -4

- A28 (C “wa 14\ = .
N At

~6
u‘—ilk by
dy-=dt
- 3[ Qﬁ s bl | - PR (—HE?B)W

= j\ (: QWHW + —};,Qﬂ( ~Hm>'—3{ﬂt(”é*i\/):\ oy USC

calc

i it ,: ﬂ* A ' ! o
W, (\ \ tutble gm A‘X — ;(r -+ - _)_‘ Qh((X'\’FL) + C (T“A Sinhs B

X = /{(h\ -l’




3. (a) On the axes provided below, sketch the polar curve given by 7 = cos 20
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? (a) Sketch the region that lies inside the curve r = 1—cos(f) and outside the curve 7 = 3/2.
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(b) Find the area of the region described in part (a).
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